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1
ERy
= BE , y _ PE y + PE y + PE y )
= 283.70 - + 56.55 + 12.92 )
= 214.2 [tCO2/ ]
2.
BE , y
= BFC y x Wy GCV y X CEF Yy X n PJ n BL
= 299 X 1 175 x 0.0679 X 80.0 100
= 283.70 [tCO2/ ]
BFC y 299 | ton/
w oy 1 - =100%
GCV 'y 17.5 |GJ/dry-ton
CEF y CO2 0.0679 | tCO2/GJ
n PJ 80.0 % 80%
n BL 100 %
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3-1.
PE , Yy

3-2.

PE y
= PE , y
= 56.55
= 56.55 [tCO2/ ]

PE y

= EC , y X CEF
= 133 x 0.425

56.55 [tCO2/

EC . vy

133

MWh/

700

311,304 Wh

CEF

0.425

tCO2/MWh

H19
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PE y
PE , y PE , y
0 12.92
12.92 [tco2/ ]
PE Wy
EC , y x CEF
30 x 0.425
12.92 [tco2/ ]
H20 50
EC y 30| MW / kcal
BkW
CEF 0.425 |tCO2/Mwh

H19
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No
11 13
A C
1 Q B 2014/5/1 o 500t
PL BFC A-1 — — — o 490ton/
P2 EC |, A-1 _ _ _ . LoMWh/ 20 N 311,304 Wh
P3 B — — — o 3762.5h
P4 B — — — o 1306h
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0.425 CO2/MW

No
13
NCV JIS Z 7302-2:1999 2013/10/1 o 2000t

P5 GCV y JIS Z 7302-2:1999 o 17,5 GJ/dry-ton

CEF y — o 0.0679 CO2/GJ

" P B o 80.0% a0%

n BL — o 100%

CEF —

H19
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